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Titration and Solution Practice Problems

1. How much 18.0 M sulfuric acid is needed to make 500.0 mL of 0.10 M H,SO04(ag)?

MV, = M2V . \V, = 3.8mL
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2. How much sohd KOH ( mw 56. ﬁ) is needed to make 250.0 mL of ¥@=0 M KOH{ag)?
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3. If it takes 25.27 mL of NaOH to titrate 0.4321 g of KHP dissolved in 150 mL water, what is the concentration of the
NaOH? NaOH + KHP = Nak PP+ H,(D
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4. A1.3171 g sample containing sodium carbonate was titrated with 21.11 mL of 0.1007 M HCl(ag), what is the percent

Na,CO;s in the sample?Z} | C | + MC‘;LCO?.“’@ ANl + CO 4 H O i
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5. 1f37.21 mL of 0.1178 M HCl{ag), is needed to neutralize 25.00 mL of barium hydromd’) what is the percent barium
hydroxide in the sample?2Li | + bOCOH'\; = 2H O + Bal ‘“'.l_
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6. How much KHP is needed to standardize an aqueous solutron of 0.1 M NaOH?
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7. 1f10.00mLof 1.71 M HNOs(aq} was diluted to a total volume of 250.0 mL, what is the concentration of the resulting
solution? \f

MiVy = Ma Vg M =8 OL8M

(1M X10.00mL) = My (BD.0mL)
8. A 5.00 g sample containing barium hydroxide was dissolved in 50.00 mL of 0.2000M HCl(ag). The remaining HCL was
titrated with 5.82 mL of 0.1002 M NaOH. What is the %Ba(OH); in the sample?

L) ccoM) = 10.00 mmol HC
(50.00mLY0. 3000M) = S

" onesear (5 82w 0H0.1002H) 0,583 wewl OH = O~ 383
KHP =204.22 d
Na,COs = 105.99 b} 00 -0 58\3 = Cl\qz rrsorio) H.C_\ X

HNO; = 63.02

BaloH), #1735 Fomol Lol B0, )T11-355
2l ) . q LL? tornol HC! O&)W fo' mo) HCI ]W‘D\ &[[}h‘)&

5, Coﬂ'b/ﬂ/e’:/

i B,
X, /9/)()0 r}u :? M 0 80:} »

B> Sy - 0087 _ g
197 D o) :‘;ni"""/}' 0, 37 ‘%ﬁ = 1% 5&1(0#&

:I< 2 LW f;'.;\: ) )



